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r.v. is time until widget dies. Assume it's exponential. (not realistic).

want prob at least 1 of 3 widgets is still alive in 6 months.

continue thic Thiires
CUITuImriucC wiio rriul o,




X is r.v. for person's height in meters.  Making things up.

Assume X is uniform in [.7, 1.3]

f X(x) = 1/6 if .7<x<1.3

0 otherwise

We want to use ft not meters.
e

Nnaw-ry-—VY Y *k2Q
ICVW I.V. T — A 0.0

we want f_Y(y)? f Y(y) =1 X(X*¥3.3)/3.3

eg. prob height between 1 and 1.1m = .017

Use ft and yards (1 yard =3 ft)

i for-height s Conti het

X uni.fo.rm in[.7,1.2]

fX(x)=2ifxin.7..1.2 \ —-.\
0 otherwise . ‘

.7 ) \
‘Prob[x<X<x+d] = f X(x)d C

"Prob[1<X<1.1]= 2*.1=.2

Want to use ft not yards. Define new r.v. Y=3X

f Y(y) = f X(y/3)/3=2/3if 2.1<y<3.6 eqn 4.67 on p 177
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P[height between 3 and 3.3 ft] = 2/3 * .3 = .2.
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Some se€

nior ECSE courses use transforms.




